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1. The table below shows results obtained from an investigation carried 

out on a fresh water plant. The plant was placed under water which 

had its CO2 concentration varied as a number of bubbles of oxygen 

evolved per minute by the plant, and was observed and recorded. The 

experiment was carried out under sunlight at 250C. 

 

CO2 concentration % by volume Number of bubbles per minute 

0.00 0 

0.02 04 

0.08 20 

0.14 24 

0.18 24 

 

a) What was the aim of the experiment?                                 (1 mark) 

b) In the space provided, draw a graph to represent the 

 information in the table above.                                        (6 marks) 

c) Using the information in table above explain  

the observations: 

(i) CO2 concentration of 0.00                                           (3 marks) 

(ii) Between the CO2 concentration of 0.02 and 0.18         (8 marks) 

d) Suggest an explanation for what would be observed in the 

experiment if the:  

(i) CO2 concentration was increased to 0.20                      (1 mark) 

(ii) The temperature was lowered to 50C                             (1 mark) 
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